Образец задания на лексику

1. Выберите единственно правильный вариант:
To ensure the safety of the banking system, central banks … reserve requirements.
-: levy
+: impose
-: manage
-: function

Образец задания на соответствие

Соотнесите слова или словосочетания слева с их определением справа:
1: owners’ equity
2: liquid assets
3: insolvent
4: intangible assets    

1: money, supplied by shareholders
2: anything that can quickly be turned into cash
3: not having enough money to pay what you owe
4: valuable but not physical things such as goodwill, patents
5: shares that a company can easily buy back from the public 
6: income an investor receives from a security

[bookmark: _GoBack]Образец задания на постановку в текст
Расположите 6  фраз из 6 предложенных в том порядке, в котором они должны находиться в тексте.
Unemployment occurs when a person … (1) … is unable to find work. Unemployment is often used as a measure of the health of the economy. The most … (2) … of unemployment is the unemployment rate. This is the number of unemployed persons divided by the number of people in the labor force. Many different variations of the unemployment rate exist with different definitions concerning who is an "unemployed person" and … (3) … . The U.S. Bureau of Labor Statistics' commonly cites the "U-3" unemployment rate as the official unemployment rate but this definition of unemployment does not include unemployed workers who have become … (4) … and are no longer looking for work. The various schools of economic thought differ on their explanation of the cause of unemployment. There is a "natural rate" of unemployment because the … (5) … are slightly out of sync even …(6)… .
1: who is actively searching for employment
2: frequently cited measure
3: who is in the "labor force"
4: discouraged by a tough labor market
5: skills of laborers and the positions available
6: under the best economic conditions

